Y6 Arithmetic Homework w/c 31.3.25 Y6 Arithmetic Homework w/c 31.3.25

1 | 84x6= 1 | 84x6=

2 | 109-10-= 2 | 109-10-=

3 |4‘4+o.5= 3 | 44+05=

4 | 5691 +735 = 4 | 5691 +735-=
5 | 27x3-= 5 | 27x3-=

6 |64— = 6 |64— =

7 | 205 -8 = 7 |205-8=

8 |45 8 | 4%
q|2q8x1= q|2q8x1=
10 | 4233 +0.1 = 10 | 4233 +0.1 =
11 | 0.674 x 100 = 11 | 0.674 x 100 =
12‘ - 7082 - 927 12‘ - 7082 - 927
13 | 990+9 = 13 | 990+9 =
14| 7% = 14| 72 =

15 | 6672 + 7809 = 15 | 6672 + 7809 =
16 | 10% of 6340 = 16 | 10% of 6340 =
17 | a.15xa = 17 | a.15x 9=

18 ‘%—%= 18 ‘%—%=

19 | 4782 x 10 = 19 | 4782 x 10 =
20 | 5621 +7= 20 | 5621 +7=
21 | 40000 - 6000 = 21 | 40000 - 6000 =
22 | 600x8 = 22 | 600x 8 =

23 | 15.1-845= 23 | 15.1-845 -



24 | 76 119-50817 = 24 | 76 119-50817 =

25|27x62= 25|27x62=
1.1 1,1
26 | = x5 = 26 | 5 X5 "
1 _ T _
27 | 21x1—= 27 | 21x 1+ =
2 1 2 1T _
28 | 3+~ 28 |3+t~
29 | 3267 =11 = 29 | 3267 = 11=
4 . 4 .
30 | 5+2= 30 | 5 +2=
31 | 12% of 350 = 31 | 12% of 350 =
32 | 836x91= 32 | 836x91=
1 2 1 2
33 ‘ === 33 ‘ Iy —%=
34 | B+Hx(11-4)- 34 | B+Hx(11-4)-
35 | 3410 +55= 35 | 3410 +55=

36 | ++3- 36 | ++3-



